ALGEBRA 1
UNIT: FUNCTION ESSENTIALS
HOMEWORK

Is the Ordered Pair a Solution?

Directions: Solve/Answer the following questions. Show all work!!

1. Determine whether the given point (2, 5) is a solution of the equation y =3x-1.

2. Does the point (7, 1) lie on the line defined by y =2x+57?

3. Does the point (2, - 3) lie on the line represented by the equation 3x -y =3?

4. Does the point (3, - 1) lie on the line defined by 2x+5y=5?

5. Does the point (3, - 1)lie on the line defined by 12x-y =87

Determine whether the ordered pair satisfies the equation.

6. (-2, 3); y= -3x-3 7. 5, 12);

8. (-2, 3); 3+y=x2-x 9. (1, -3);

y= =3x-3

3+y=xt-x



Student Name:

Yes/No

Does the given ordered pair satisfy the linear equation?

Equation Ordered Pair

3x + 2)7 =1 (11'—1)

4y —3x =6 (2,3)

2% + 5y =1 2,-1)

x—5y=10 (0,—2)

Sx—y=-12 (—4,6)

% +4y+5=0 (-1,1)

4x —y =20 (2,4)

X—y+4=0 (6,6)

7x—11ly =2 (4,-5)

6x — 5y = -9 (1,3)

Work Space
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Determining Solutions Name:
Hour:

1- Determine if (0,2)is a solution for g(x)=-5x +2

2- Determine if (-1,5)is a solution for g(x)=-5x +2

3- Determine if (1,7)is a solution for g(x)= 5x +2

4- Determine if (0,2)is a solution for g(x)= 2x -2

5- Determine if (-1-4)is a solution for g(x)= 2x -2

6- Determine if (2,6)is a solution for g(x)= 2x -2

7- Determine if (0,2)is a solution for g(x)= x +2




8- Determine if (-1,1)is a solution for g(x)= x +2

9- Determine if (-2,0)is a solution for g(x)= x +2

10-Determine if (3,4) is a solution for g(x)=-5x +2






